4 | | : |

E

REFERENCE SPECIFICATIONS
-NFC 93425 (in complionce with HE 507)

PHYSICAL CHARACTERISTICS
~INSULATOR MATERIAL: THERMOPLASTIC UL94V0

-CONTACT MATERIAL: BRASS
-ACCESSORIES: BRASS
-SHELLS: STEEL

ELECTRICAL CHARACTERISTICS
-NOMINAL CURRENT: 7.5A

-CONTACT RESISTANCE:
-CONTACT/CONTACT :
~CONTACT/GROUND :

- INSULATION RESISTANCE:
ENVIRONMENTAL CHARACTERISTICS

<z 7.3 m ohms
>:1000 V

>:1200 v

>25000 MOhms

- CLIMATIC CATEGORY: 55/125/21
TEMPERATURE RANGE -55°C TO +125°C
DAMP HEAT STEADY STATE 21 DAYS
SALT SPRAY 48 HOURS
MECHANICAL CHARACTERISTICS

RETENTION AGAINST TORQUE: - Threaded insert: 0.7 N.m minimum

- Female screw : 0.5 N.m minimum

ECy

m

NOTE RoHS INFORMATION

- The "LF" producis meei european union Directives and other couniry
requlotions as described in G§-22-008.

- Terminafion plating spec:
Ni + Gold

- Aclive orea plating spec:
Ni + Gold
- Shell plating :2 to 4pm Cu + 3 to I0pmm Sn,pure bright
- Accessories: Sn pure bright
- Packaging spec: See GS-14-920

- DBLIBW3PO43AC

Shell size: EABC D"———‘I

see sheet 3

Front accessory definition
see sheet 2

Blank :without accessory
L :threaded insert M3

0 :threaded insert UNC 4-40

Layout of contacts (see sheet 3)=——

Contacts
P :Pin

Plating
Blank signal solder bucket 200 matings/unmatings
043 signal solder bucket 500 matings/unmatings

PCB accessory definition

A witout accessory on PCB

Power contacts
00 without power contact

OOLF
]

See note RoHS

13W3 FOR EXAMPLE

LI

Juulf | mul

| eeeBBERE |

“" surface \//¢oumnm projection

www. fciconnect.com

[X-1] o= —
D M PESSON [ 11/10/05 [Product fomi iy e Scale

1 Jecn no *ﬁ dote Teng [ 11/10/05 | P LEGARE _ |Spec ref A2 21

A frsos-010fuPE 11710705 Fi Material SEE_NOTES | ECN

- - - - Appr
B ° Rev
- SUB MALE Dw > C01-8639-2307
- mixed powertsolder bucket o A
Catalog 1o CUSTOMER COPY [oheet 1 of 1

6 I 7

PDM: Rev:A

status:Released

Printed: Dec 09, 2005




2.1
A - A
~ = ﬁ 11 =
T . — A
f A
1
B 23.1040.1 e B
FRONT ACCESSORY : L insert M3 —
Blark withoe! O insert UNC 4.40
- PCB ACCESSORIES A without A without -
i shell size LAYQUTS
: WATINGS/ | FRONT ) ' xWx C
PART  NUMBER UNMATINGS | ACCESSORY ACCESSORIES
DsxWxPAQOLF 200 wilhou! wilhout E SW|
DeLxWxPAOOLF 200 insert M3 wilhou! A | 1WI
DsOxWxPAOOLF 200 inser! UNC 4.40 withou! A 7w2
D*xWxP043A00LF 500 wilhou! withou! B 2 | w |
DeLxWxPO43A0OLF 500 inser! W3 withou! B | TW?
DsOxWxP0O43A00LF 500 inser! UNC 4.40 withou! B | 3w3
B Iw4
C 25W3
C 21WA4
C 27TW2
3 D 47W1
- D 24W1
i D 36W4
zfz surfoce - tolerance |projection
= A www. fciconnect. com \/
i rCl @&
b M PESSON [ 11/10/05 [Product fom iy e
Eng | [1/10/05 | P LEGARE _ |Spec ref A2
chr Material SEE_NOTES | ECN
Appr
SCALE: 4 = SUB MALE W S C0I-8639-2307
- mixed powertsolder bucket o
Catalog 1o CUSTONER COPY
2 3 4 | | 6 I 8

PDM:

Rev:A

status:Released

Printed: Dec 09, 2005




A A
1 0.12 23 B
24, 991012 33.32.912 . 3;,
+0.25 +0.25 v
25. 120 25. 120 w
N

12.55%%
8.234%
12.55 +0.38

[I H{géj @ SIDE VIEW FOR |

LAYOUTS: E AB C

L
[ | 3
1))

1

I 2 2 e | | ] F
: 2 2 33.32%" =
3 = 3 © 3
= = = = c
o R, ' AR
' l HHH I ' ' oobdoog J ' gogog ) B
30.43::‘" ?2 35‘76::'" - ?2 38‘76::‘" . 5
ol o Ne 00 ™ 00 o0 B
< e == 6(Cen0)®
A — ) (
i 19,00 '3 2.5 1 2250 E

Floating signal conlacls B

A surface \/ tolerance projection
www. fciconnect.com
Y o= —

Fion or 1ssue o Ihird parties in ony

wriHen author ity Trom ihe proprietor

b M PESSON [ 11/10/05 [Product fom iy e Scale

fng | 11/10/05 | P LEGARE  |Spec ref A2 21 F
cnr Material SEE_NOTES | ECN

Appr

B ° Rev

= SUB MALE Dw > C01-8639-2307

- mixed powertsolder bucket o A
Catalog 1o CUSTOMER COPY [oheet 3 of 1

2 3 4 | 5 | 6 I I 8

PDM: Rev:A status:Released  Printed: Dec 09, 2005




|
A
= +0.16 —
52.650
2 47‘04‘:“‘2': ) . a.0a® . ar.04 %"
8| Wl - 38.840 A 10,25 ol '0.28 B
w| I 2. 16 : 38.84 o : 38.84 ¢
< & 38 = Ly - e 3 —
af L], _L = > -
- r T o)) i W o~ T o o ol
- @‘\@{ Bl s 1 - z @&@T‘f’%zﬂaﬁ- 10l B
NS/ © © N Nt/
— | —/J E — —/J
! §
_ AL
iC )
=5 m j m
. mmi W =) . i M = ,_%_Em}ﬂmlPE}ﬂm_‘
i sl Won| eul W rul
| BEBEEBER | | BeEBBEBER | | BeeaEBEEA | .
<] | p 7 | P 7 | = i
[ [ @&&@_O @ ~ A (XX @ : L 0000000 @ N
09060 < []:) < 0000000 S
A ! y S A ! y S ! A= L]
£ 3
402" 4,025 41,0245
%fi Floaling signal contacts
s surfoce - tolerance |projection
= A www. fciconnect. com \/
i rCl og| —
5% Dr M PESSON 11/10/05 Product family -] size Scale
Eng | 11/10/05 | P LEGARE _ |Spec ref A2 201 F
Chr Material SEE NOTES | ECN
Appr
- ° Rev
= SUB MALE Dw > C01-8639-2307
- mixed powertsolder bucket o A
catalog no - | CUSTOMER COPY lsheﬂ 4 of 1
2 3 ] | 5 6 I 8

PDM: Rev:A status:Released  Printed: Dec 09, 2005




HE 3 4 ! 5 6 | 7 8
A A
0.7
52,650
. 0.76 0.76
23 4704207 §0.340 .00
el 0.2
= 388480 = 83542 = 5:3':.': »
g: ‘3 ) L3 . . .
’ z = 2 55.34% 3 ' B
3 ——t 3 <
w oo el —
~ @ o o o\ Je—o-6-o-4 4 11— H Y
© 18 e Y., ) Y Vu 1 & s A8 A
( 000O0O0O & 00O -0—O 0000 00 O
| — I ) © \Cb_.,aTo'a'o*?a—c —4H @K =6 560 6 ol IS I B
' e = S n —~J 2
R 4 3 | 279
1.3 AL
< - . . 22.68 ¢
3 3 3
= o | <
L) -
[} | 1
1 1
; L ! w| el ' =u
| BeEREBBER | | BEBBRBEBBEABAE | | BEBRBBRBEABR |
I 3 ) E g
“ g sl
< - = D
cq I * -
1 = - } )
eeeee@eeeee 29 ; ; — _
= < 000000000000 a 00000000 = —
< A [ soesssieesssss O)\@ [QDossseesssD D)@ =
= i 4 = A i . =
57.4 :l‘ZS 51.45 :I.ZS
e 41,029 b : £
] surfoce - tolerance | projection
'A=. www. fciconnect. com \/ @E}
Dr M PESSON 11/10/05 Product family -] size Scale
Eng | 11/10/05 | P LEGARE _ |Spec ref A2 201 F
chr Material SEE NOTES|ECN
Appr
N ° Rev
= SUB MALE Dw = C01-8639-2307 |
- mixed powertsolder bucket °
catalog no . CUSTOMER COPY [mu 5 of 1
3 4 | 5 6 I 8

PDM: Rev:A

status:Released

Printed: Dec 09, 2005




| HE 3 4 ! 5 6 7 8
A A
SIDE VIEW FOR
B LAYOUT: D B
ol 61 11" ]
68.940 52,6908 -
63.5%% — <
— g 55,3192 -
o
r =
o ' & o AN F
00O0O0O0OO0 00O H
P- 5566506060 6 ool taH = - I c
/& R 2
£ .16 i 2
- i e A Lks -
s s g
3 3
: 3 A000000A0ANNONAN0 D
% H 1 IEEAf 1 lmu|
BEEEEEBEEEEEHE| | BEEEEEBEEEBEBEH
= :4 f ! -
<2 - 716
= — NS 7 =
E 00000000000 N - 7| (00000000000000000 3 2
@ ( 000000 eeeeO CD} % L@ (DD @
= d=) 2 RS j L]z
0.5
31.45 4 55‘07,',”' —
66.95 9" e e e
'A=. www. fciconnect. com \/ @E}
Dr M PESSON 11/10/05 Product family -] size Scale
Eng | 11/10/05 | P LEGARE _ |Spec ref A2 201 F
chr Material SEE NOTES|ECN
Appr
© SUB MALE DW S coi-8639-2307 |
- mixed powertsolder bucket 3 A
catalog no CUSTOMER COPY lsheﬂ 6 of 7
2 3 4 | 5 | 6 I 8

PDM: Rev:A status:Released

Printed: Dec 09, 2005



HE 3 4 ! 5 6

1 8
A
[T e 61112
52,6903 52.69 8%
20.57 20.57
13.72 20,51
B 6.86 L
4 4
2 A 0booo oo ey Ty 3 [cocecocedoonoooe
= -qa < Q c:o—o-o—o—g-l—e — = -@ \ w—o—oo—o-o—o—e‘-to—o-o—e-o—o- 2—@ —
— w K"OOOOOO00000000000"} w E@OOOOOO()()OOOOOOOO“ —
2 2
E T C 3 I
s s 2 e
- ] - ]
< < C
3 i
anmmmmY My
: |
BEBBBAHABBHABB8H8
s_‘ ! z |
- - D
—— — | -
0000000 éeeeeeeee 5 3 00000000000000006
- j000000 = D/ | ©0000000000000 L
<o 9 999999 ~ o OQpOOOOOéOOOOOO
e = - b :
55.07,"% 55,0109
3 E
66.55'07 66,5531
Floaling signal contacis
surface - tolerance rojection
A www. fciconnect. com \/ p@JE}
[ X-1]
Dr | M PESSON 11/10/05 Product family -] size Scale
fng | 11/10/05 | P LEGARE  |Spec ref A2 21 F
Chr Material SEE NOTES | ECN
Appr
< SUB MALE OW S coi-8e39-2307 |
- mixed powertsolder bucket 3 A
catalog no CUSTOMER COPY lsheﬂ 71 of 1
2 3 ] | 5 | 6 I 8

PDM: Rev:A status:Released  Printed: Dec 09, 2005




